¥ ~10P COVER WITH FAN
-’/’fz
-
CABLE ENTEY — -
19" MOUNTING

FIXED SIDE COVER——
FRONT GLASS

ASSEMBLY PROCEDURE FOR
SWING FRAME RACK

BOTTON COVER—

OVERALL HELGHT
USAELE HEIGHT

| FRONT VIEW | | SIDE VIEW |



m Place Rear Side Cover on the Bottom Cover and tighten it with
M6x10 screw

Place Top Cover on top of both Rear Side Cover and use
M6x10 screw & nut tighten it

Base Frame is used to Mounted on the wall

1. Base Frame Assembly
]



2. Lock,Hinges and Power Distribution
Assembly

T0P COVER

CABLE ENTRY

ﬂ“‘“‘H[NGES
Q‘% [
REAR SIDECOVER ——

| -© 3
e
LOCK FOR HOLDING THE >
SWING FRAME
BOTTOM COVER ]ﬁj[

- m Fix the lock and hinges as shown
m Power Distribution assembly will be done by
suppler

T~
POWER
QDISTRIBUTIDN




3. Swing Frame Assembly

EOTTEM COVER

EEEEEEEEEEEEEE

Z TOP COVER

m Place Swing Side Cover on the Bottom Cover and
tighten it with M6x10 screw

m Place Top Cover on top of the Swing Side Cover and
use M6x10 Screw Nut to tighten it




4. Mounting Element Assembly

’f//,,/”’fz TO0P COVER

SWING SIDE COVER / g

A
oy ‘,.“N i
\ A e y |
]
;
H

SCREW

/ \FRDNT

19" MOUNTING
ELEMENT

BOTTOM COVER

m The19” Mounting Element is assembled to the Side Cover with
M6x10 screw nut

m Repeat procedure above for assemble the rest Mounting
Element

m Every Swing Frame has 4 numbers Mounting Element




5. Joining 2 Part Together

DETAIL A

m One part of the hinge is assemble at the base frame, another
part of the hinge will be screwed onto the Swing Frame using

M4 CSK Screw
m Lift up the Swing Frame and insert into the hinge on the Base
Frame



6. Front Glass Door Assembly

TOP COVER WITH FAN

CABLE ENTRY

E" MOUNTING

W
FLENENT

FIXED SIDE COVER—

FRONT GLASS
DOOR

m Fix the Front Glass Door onto Swing Frame
l with using M6x10 screw




End Of Presentation

Thank You for buying Closed-loop
Product



	ASSEMBLY PROCEDURE FOR SWING FRAME RACK
	1. Base Frame Assembly
	2. Lock,Hinges and Power Distribution Assembly
	3. Swing Frame Assembly
	4. Mounting Element Assembly
	5. Joining 2 Part Together
	6. Front Glass Door Assembly
	End  Of  Presentation

